
=t/t 

e-G t 



=t/t 



Dm/G=5, DG/G=0.1 
Dm/G=3, DG/G=0.1 
 
Dm is oscillation frequency 



dG(P0 f)/dt  
 
dG(P0 f)/dt  
 

for an initially produced P0 

(us) (cd) 

(bd) (bs) 

Dm/G 1, DG/G  -2 
Dm/G 510-3, DG/G  0.02 

Dm/G 0.8, DG/G  0 
Dm/G 27, DG/G  0.1 



(bs) 

Dm/G 27, DG/G  0.1 

dG(P0 f)/dt  
 
dG(P0 f)/dt  
 

for an initially produced P0 

dG(Bs
0 Ds

-p +)/dt  
dG(Bs

0  Bs
0 Ds

+p -)/dt  

actual measurement 

R. Aaij et al. (LHCb Coll.), New J. Phys. 15, 053021 (2013) 



dG(Bs
0 Ds

-p +)/dt  
dG(Bs

0  Bs
0 Ds

+p -)/dt  

actual measurement 

R. Aaij et al. (LHCb Coll.), New J. Phys. 15, 053021 (2013) 

semiconductor detectors 
s(r,f) ~ O(10 mm)  



= 

 cos(Dmt) 

DG ~ 0 

pure cosine, DG ~ 0  

B. Aubert et al. (BaBar Coll.), Phys. Rev. Lett. 88, 221803 (2002) for Bd
0 


